PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
24th July 2016, 03:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-
CANCELLED

How many symbols immediately follow a letter in the following sequence? / ISE] 3AJhH fr',

Rre Tl 04 § RS qed d1g TP R 87

WATLIN@5GB8<+?Q>2*H4&KP9?#YS36$EZLR7
° 2
e 3
* 5
* 4
Correct Answer :-3
2)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms.
Choose the fourth term from the following options which has a similar kind of relation

with the third term. / P Uy &, Tea @ & & o 5 v @ 91 d9y 2] e e & @ v
ue g et dRY ug & 91y St UeR $1 |9y 3|

Air : Atmosphere ::Water : ? / Bdl: dIdTdR 0l :: GSlcl: ?
e Island / g
* Earth / Gt
®* Ocean / 94z
e Drop / §g

Correct Answer :-Ocean / I

3)
Question Stimulus :-

()



Select the option, which is the logical equivalent of the statement given below: / dg

e g, s ah P e IR R FF F I :

If the tree is green then you can see a bird on it or you can rest in the shadow. / uﬁﬁ%’

8§ Ol 3MU 39 W U FafSar &1 3 IPd & a1 o1 § fa9m &2 94 &l

e If the tree is not green then you cannot see a bird on it or you cannot rest in the
shadow. / Tf¢ Us &7 181 & oY 31U 39 W U& Fufear #1 7€) @ gwa € a1 orar § fayma T8
PR gHd gl

e If you cannot see a bird on the tree and you cannot rest in the shadow the tree
must not be green. / I MY U8 W Te fIfEar &) 78 T@ Id € R omy sram § fagmy 7Y
TR AP § a1 IS 8T 7Tl g

e If you can see a bird on the tree or you cannot rest in the shadow the tree must
not be white. / afe 3T U W s FIfsar < 3@ Iod & a1 3y o1 § e 78 &= Iod &
dt US ¥ibg el gr |

e If the birds are green then you can see the tree. / uﬁﬁlﬁﬂﬁsﬁ g &I'I'Erﬁ's' P T
LR

Correct Answer :-If you cannot see a bird on the tree and you cannot rest in the

shadow the tree must not be green. / If¢ 3T U8 W & RIFFUT &) 78 3@ d § T My
BT # faymd 98 $ Fbd € of US 80 181 ghm|

4)
Question Stimulus :-

Which bird is considered as the state symbol (Bird) of Madhya Pradesh ? / P9 1 ueft Aed USRI & 59
Udi® (78) F U H HET WT€T 82

® Asian Paradise Flycatcher / Q'QTCFI' 'a?'lm Tﬁﬂg%?_"ﬂ, QTS

® Great Hornbill / e ﬁ#ﬁlﬁ

® TIndian Roller / YRAH JAeR

® Great Indian Bustard / Yo E%IF'I' TS
Correct Answer :-Asian Paradise Flycatcher / TRrE m'{\q WI'&%’_T-I'\’, QURTS
5)

Question Stimulus :-

A courier agent has to deliver post in 3 streets. Each street has 5 houses. He takes 2 min to
deliver letter in each house and 5min to travel between each house in each street. He takes
20 min to go to the next street. His day starts at 10 AM and finishes off by 3 PM, with no

break in between. / T% $RUR Tole H1 3 Al A ST ST 81 AP Tl # 5 TR g1 91 T W H STh

©)



I H 2T AN MR TN S W WA FF & 5 fie a1 21 9 3nrelt I # 91 # 20 e @an 21
ST 37 Ya§ 10 991 = gla1 3 3R SIUER 3 TS WeH Tial &1 98 39 S HIs favrd g1 Al

If all houses on 3 streets have to be delivered letter, then at what time should he start such
that he finishes off delivering in these streets at 3PM? / af¢ 3 7iferal & Tl ==Y & w1 g9 €,
19 39 fr T T0A SUAT FTH Y= HIAT A1eT BT 98 GIUe? 3 Iof ab IR U 39 Tferdl § faaka #3 g1

e 11.35 AM / g§% 11.354%

e 12.40 AM / S8 12.40 Tui
e 12,50 PM / QU 12.50 T
e 1.25PM / U 1.25 ¥4

Correct Answer :-12.50 PM / GIUg? 12.50 §ul

6)
Question Stimulus :-

was born in Barwani, Madhya Pradesh and is the former Chairman of the Atomic Energy Commission

ofIndia? / __ wsarl, Aed W # UgT §Y T Uk & WRHTY] Froll STANT & qd Sremer 82
* RKSinha / 3R & g1
* Anil Kakodkar / 3fd ®THISHR
® Shekar Basu / JGR 1Y
® HN Sethna / TF T J1
Correct Answer :-Anil Kakodkar / 3-d STHISHR
7)
Question Stimulus :-

Baz Bahadur’s Palace is found in ./ ST 9gIge H1 Hgd __ W 9T 1T g

® Ranod/ TF'ﬁ_d

® Mandu /g

* Sondhani / FIHUT
® Sadalpur/ 9TgdqR

Correct Answer :-Mandu / {ig

(4)



8)
Question Stimulus :-

A team of five is to be selected from amongst five boys (A, B, C, D and E) and four girls
(P, Q, R and S). Some criteria for selection are: / TIWES’G?[(A B,C,D, 3R E) 3R AR
dsfHUi(P,Q,R,3MR S) H ¥ Ul &N & T HH HT TU BT gl Wﬁﬁ'@r%

e A and S have to be together. / A 31X S 91Y g1 T1RUI

e P cannot be put with R. / P &I R % Ty T8 @1 S g&dil

« D and Q cannot go together. / D 31X Q U% AU &l ol IHd|
e Cand E have to be together. / C 3[R E U & 91Y g 12T
e R cannot be put with B. / R &I B & 14 gl ¥@T o &l

If two of the members have to be boys, the team will consist of / 3R ﬂﬂ'&ﬁ 7 33[ FI?,%
B AR, Y odt 399 Rraes s

AIBISIPIQ

A,D,S,QR

B,D,S,R,Q

C,E,S,P,Q

Correct Answer :-A,B,S,P,Q
9)

Question Stimulus :-

In which American city did Swami Vivekananda deliver his famous speech at the parliament of religions/ o

ot TR | WA faeTg A 3= uRis HTuoT 31 4w dag | fomr ur?
e New York / = UTd
e Chicago / RITI
® California / BTAIT~AT
® Los Angeles / A1 ToIerd
Correct Answer :-Chicago / fRI®T
10)

(5)



Question Stimulus :-

Which was the permanent capital of the Hoysalas? / a'qw P TF[?J'I'&F IS B I fe
® Belur/ aﬂ?
® Somnathpur / @'HHTQIQT
® Shravanbeagola / YUTTRTIET
* Halebidu / ETS

Correct Answer :-Halebidu / TGS

11)

Question Stimulus :-

Garos are the tribe of . / TR SIS _% %I
® Assam/ 3¥{H
® Manipur /'FlﬁTg?
® Mizoram / FelRH
® Meghalaya / AUTed

Correct Answer :-Meghalaya / HETad

12)
Question Stimulus :-

The second highest civilian honour in Indiais / HRd & QI gt ARTRS a8
® Bharat Ratna / HIRd ¥d
® Padma Bhushan / UsT HUUT
® Padma Vibhushan / OgT faagor
® Padma Shri/tﬁnﬁ

Correct Answer :-pPadma Vibhushan / TT faywor

13)

Question Stimulus :-

(6)



Select the option, which is the logical equivalent of the statement given below: / dg

frr g ab A R AR e sE FIu= e :

If Akshay plays well then he will win the prize but will loose the contract. / gfe e
3BT WAdT g o) 98 S S Afeh 3TF §1Y | PlIeae IdT ST

e If Akshay does not play well then he will loose the prize but will win the contract.

/ afe 3iera a1 T8 WadT § @) 3919 ST g1 I IS ST AfP 98 FIeae Sitd A

e If Akshay wins the prize then he will play to win the contract. / ¢ 31&/d ST9 Sitdar
? @l 98 PIeae Siiaq & fog @am|

e If Akshay does not win the prize or wins the contract then he has not played well.

/ afe 3Mera T4 A8 SitadT 8 a1 ®lede el Sidadl € a1 397 3T A8l Wl

e If Akshay wins the prize then Asha will win the contract. / af¢ 31&d A §=ITH Siar
TN Pigde Sitd A |

Correct Answer :-If Akshay does not win the prize or wins the contract then he has

not played well. / ¢ 31&/d SATH &1 SiiadT @ U1 BIcae gl Siladr g a1 39 33T g1 Tl

14)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 faweu gHU

Sl f3T 7T Hy=Y vd fepuf & av § 9 2
Statements: / BYH:
Some sandals are shoes / $9 GEL \‘rjﬁ ?

Some shoes are gloves / 99 ij;?r TEH g
Conclusions: / fApy:

I. No glove is sandal / 1.3 g% 989 g1 &
I1I. Some sandals are gloves / I1.$9 Jsd g™ &

e Only conclusion I follows / ¥ad fa=ry 1 fAeadr @

e Only conclusion II follows / Fad foreet 11 fAeaar %

e Both conclusion I and II follows / &I fspY I 3R II fad &

* None of the conclusion I or II follows / f-shd I a1 I1 & A FIE 7¢I wadr @

Correct Answer :-None of the conclusion I or II follows / e 191 II & 9 T:Iﬁ'sﬁ T8
Frpaar 8

(7)



15)
Question Stimulus :-

This mathematician was famous for very fast calculation skills. / g NIGERCLEI 3Merde e 9 A aol 0T
o & e uRrs /2

® Shakuntala Devi / w a'é’f

® Ramanujan / YTHTISA
® Rina Panigrahi / =T tlTﬁTﬂﬁ
® SN Bose / TH T d9

Correct Answer :-Shakuntala Devi / XIGadl gal

16)
Question Stimulus :-

The figure at right represents an unfolded box with designs on several panels. Below
are four drawings of boxes with designs. When folded, which box will it be? / aféur W
i fafirs 99a w fEwms= & a1y o= 98 forar v awn fearddt 2] = fewrsi ot ao &) TR
TTEN B Bies B4 W, B AT T 2

R gt
RRRAREN Ao

(8)



Correct Answer :-

17)
Question Stimulus :-

When and where was the National Library of India inaugurated and opened to public? / &d 3R ﬁ}f YRT &
TN YRSty ST IguTe AT T Ul e aT % forg @ier T o

* Mumbai, 1950 / H&s, 1950

® New Dehli,1951 / 3 fewil, 1951

* Kolkata,1948 / PIcI®Idl, 1948

e Kolkata,1953 / BIPTdl, 1953
Correct Answer :-Kolkata,1953 / ®Ia®Idl, 1953
18)

Question Stimulus :-

Who was the first viceroy of India? / HIR< PT YUH ?ﬂi'\tm‘cr P UT?
® Lord Canning /'(‘ITE? CORU|
 Lord Elgin / @S TRM
® Lord John Lawrence /FI'ITSC ST AR
® Lord Hardings /F‘I'I_éa; FI'%"W

Correct Answer :-Lord Canning/?'l'l_é»F BT

19)
Question Stimulus :-

A postman has to deliver post in 4 streets. Each street has 10 houses. He takes 1 min to
deliver letter in each house and 5min to travel between each house in each street. He takes
30 min to go to the next street. His day starts at 9 AM and finishes off by 4 PM, with an

hour of lunch break. / TP SIPTUHI 4 TN A STH S SI TR TA A 10 REI AW R A TH a9 A

U fiFe adr ? ok Ui fire = & o9 a1 o34 & odn g1 9 i e 3nTell s R W # T 7

%wga@rmﬁvrwsﬁm%eﬁuaﬁmm%,wﬁaa% 190 HT GIUe & HieH & g |9y oar
|

If he can skip one of the streets, but has to deliver to all houses in other street, what is the
latest he should leave to finish off his work by 4 PM? / f¢ 98 T® el Bl IHal g W SID!

©)



M@ﬁﬂﬁ‘aﬁﬁqﬁﬁﬂ&aaﬂﬁ%’,Wéﬁﬁﬁmmwwm%aﬁa—sm4aﬁﬁ
RT BT A?

e 9:30 AM / g§g 9 9

e 10:30 AM / J4% 10.30 T

* 11:30 AM / g% 11.30 §9

e 12:30 PM / GU&Y 12.30 ¥
Correct Answer :-10:30 AM / J§§ 10.30 ol
20)

Question Stimulus :-

M is taller than S who is shorter than R. V is taller than M. Who is the tallest? / M, S I
a1 §, St fF R T Bier 8] v, M 9 daT 8] I99 &a1 P 82

oV

M

s

* R
Correct Answer :-V
21)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg faweu gHu
wil foT 7T Syl vd Fremuf & TR o @€ gl

Statements: / Y:

All tomatoes are vegetables / 94 T AfSTAT &1
Some vegetables are fruits / $9 it e %'I
Conclusions: / Ao

I. Some tomatoes are fruits / I. $© cHICY bd ?l

I1. Some fruits are tomatoes / II.. 3 Hd HICT B

e Only conclusion I follows / ¥ad Ay I fAwadr &

(10)



e Only conclusion II follows / g et II fAeadr g
e Both conclusion I and II follows / Eﬂ=ﬁ forspy 1 3R 11 e %
* None of the conclusion I or II follows / f-rehd I a1 I1 & A FIE ¢! eaar

Correct Answer :-None of the conclusion I or II follows / fpd I a1 II # § @IS 81
Frwaar g

22)
Question Stimulus :-

The play “Meghadutam” was written by / SIIc®h “ﬁ'ﬂ@ﬂ'ﬂ'” 371%? §IRT feraT T3 At
e Kalidasa / a;lﬁ'l'?:{m
® Tulsidas / ﬂ?l?ﬁ?l'\q

® Bhasa / HTHT
® Bhairava / g

Correct Answer :-Kalidasa / BTG

23)

Question Stimulus :-

What was the real name of Swami Vivekananda? / ﬂ'aTIﬁ ﬁ'a'EFF‘E{ T ATl 19 DT Y1?
® Vishnu Dutt/ﬁ"sl:UJE?IﬂT

® Ram Krishna / XTH YU

* Adityanath / STFGAATY
® Narendranath Dutta / TR AITY addl
Correct Answer :-Narendranath Dutta / WHTUET‘[_CIT

24)

Question Stimulus :-

Which Constitution Amendment Act adds the languages Maithili, Bodo, Dogri and Santhali in the eighth schedule

of the Constitution? / TfIuT= # fv Gﬁ\%ﬁﬂﬂﬁwm%mﬂﬁﬁﬁﬁ, ﬁ??f, SR 3R TUTel ! wfaem
Dt TSl S W e oo war A2

o 85 Amendment Act 2001/ 8597 TR FUFREA 2001

(11)



e 86™ Amendment Act 2002/ 86 T TR rfUf~AH 2002

e 87" Amendment Act 2003/ 87 i TR SrfUf~raw 2003

e 92" Amendment Act 2003/ 92 df TN e SffUf~ad 2003
Correct Answer :-92"! Amendment Act 2003/ 92 af T=NeA A 2003
25)

Question Stimulus :-

A car was moving towards north-east direction. The driver after taking 90 degree left
turn took a road that was at 45 degrees to his left. Which direction the car is heading

now? / T ®R IR-Ud =M Ft 3R Mt ¢ &t M1 FoTa® 7 90 f&ift I % oA & a1¢ T IS
ot 5t #1 45 fElt R I9F Il ok 71 fore fozn # @R o Sg T@1 82
e North / SR

e South / Sf&ur

e East/ ch

e West / ¥y
Correct Answer :-South / Sf&ur
26)

Question Stimulus :-

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /

Frafafed vy & v a1de w0 A W<l 3t a1 B3 3R 3T 916 A fou e fawe & ¥ 9a9 Suge
STHH PT T Pr:
1. Honey 2. Flower 3. Bee 4. Wax
1. T6¢ 2. A 3. AYASE! 4. 91H
e 1,3,4,2
° 2,1,4,3
e 2,3,1,4
° 4,321

Correct Answer :-2,3,1,4

(12)



27)
Question Stimulus :-

When is Civil Services Day celebrated in India? / HIRd H fafaa Sar feaw w9 g=mam Sdn %?
o 215 August / 21 9 3R
o 215 April /21 &Y 3dd
o 15t April/ 15 ¥ 30
o 15% August /15 9 SR
Correct Answer :-215 April / 21 df 3r¥id
28)

Question Stimulus :-

In the following question, four words are given, out of which three are same in certain
way and the remaining one is different. Find out the different one. / auy ﬁ, IR g fou
T g, o § 9 fodl yeR | 991 & ik S19] Toh 3T 8| 3MeNT ardl JTd Bifed |

e Teacher / P
e Principal / U
e Student / ¥

e Professor / mMbaY

Correct Answer :-Student / 919

29)

Question Stimulus :-

Which district of Madhya Pradesh has both Indian Institute of Technology (IIT) and Indian Institute of

Management (ITM)?/ 70 TSR & ford e # YR uren et 9 () 8k HRAETT Uae TR (11M)
e 87

® Jabalpur/ STdAYY
* Gwalior/ TTfRIR

® Bhopal / HIUTA
® Indore/ 3?3?

(13)



Correct Answer :-Indore / SR

30)

Question Stimulus :-

What is the type of erosion that occurs in the rivers in Madhya Pradesh which removes the top layer of the soil

forming deep channels called? /ﬁ?ﬁwmméﬁnwmaﬂmﬁﬁﬁﬁiﬁﬂﬁmﬁmm
FRAT T ISP SHUT TR Tl 52

® Stratified Erosion / Wﬂﬁ wcld
® Gully Erosion / ATl Ferd

® Sheet Erosion /dgx cld
 Ravines / Td

Correct Answer :-Gully Erosion / ATell Herd

31)
Question Stimulus :-

‘Tree’ is related to ‘sapling’ in the same way as ‘woman’ is related to / ‘ﬁtﬁ:” LEIRG

‘Frogar | S PR @ 3 e @ it ddfta @ e
* Off-spring / IdE
* Father / fiar
e Girl / TSP
* Flower / §d

Correct Answer :-Girl / GS®!

32)
Question Stimulus :-

If Monday means a lousy day, and it's a lousy day today, then it's Monday. / gfe HarR
&1 Hdad 9gd WRI9 & 8, 3R e 9gd TR19 {37 8, &) 98 9ivar 21

e True / I&!
e False / Tdd

e May be / B J&dl g

(14)



e Irrelevant / 3YER®

Correct Answer :-May be / & H&dl &

33)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowea

g ab s R AT Re U FsH F 0= 8 :
If Dolly works hard then she can get ‘A’ grade / 3f¢ STl Hg-d ®Rdl € df 98 ‘A’ IS U1 IHdl &

e If Dolly does not work hard then she can get 'C’ grade. / gfe STelt Aed 8] Bl & a
98 'C’ U T 9Fdl Bl

e If Dolly gets ‘A’ grade then she must have worked hard. / gfe sielt & A’ U5 fien %,

al S99 Agad @ Bl

e If Dolly does not get ‘A’ grade then she must not have worked hard. / gfe sielt &t

A’ g T8t firem B, oY Su AgAd A8 @t gt
¢ Dolly wish to get ‘A’ grade. / ﬁﬁaﬁs@‘r%‘A’a@WI

Corre(it Answer :-If polly does not get ‘A’ grade then she must not have worked hard.
/ afe st 3t A 3 81 firan g, 9 399 Aea T8 @1 grf |

34)

Question Stimulus :-

1.Eleven students A,B,C,D,E,F,G,H,I,]J and K are sitting in the first row of thg class facin_g
the teacher. / ™R8 ©H A,B,C,D,E,F,G,H,I,] 3R K R1e/& &1 3R 99 T gu weam # ugel ufey # 98
gl

2. D is to the immediate left of F is second to the right of C. / F & arft SIRA Pa MR C &
gl iR | GER1 D B

3. A is second to the right of E, who is at one of the ends. / E * alléﬁl ah?ﬁg'av A %, CaC|
fa RR & 4w 2l

4. ] is the immediate neighbour of A and B and third to the left of G. / A 3R B & [Ra us g &
IRGF IR SIRI T I T |

5. H is to the immediate left of D and third to the right of I. /D & arit 3R I T¥d SR I & qifgt
3R A AT H B

If E and D, C and B, A and H and K and F interchange their positions, which of the
following pairs of students are sitting at the end? / 3NIR E 3R D, C 3R B, A 3R H 3R K 3R F
P R 9 fov od €, af Ay & S o 31 Sie! 3id & RR w9312

(15)



* DandF

* EandF

e DandK

e KandF
Correct Answer :-D and K
35)

Question Stimulus :-

Which one of the following major sea ports is without a natural harbour? / frrafafeea L EC] '\‘l'ﬁﬁ dETel °§ 9§
®I4 T foA1 Urpfae de7me & 32

® Mumbai / 'ﬂﬁg

® Paradeep/ URTGIT

® Marmagao / 'ERTI'W

® Visakhapatnam / ICEUECINSEE ]
Correct Answer :-Paradeep / URTGIT
36)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 fawe gHT
wil T T Syl Td Frepul & AR § 9E R

Statements: / ®YH:

All triangles are angles. / 93 &0 HivT §1

No angle is a line./ &g ®Ivr UfeT 81 g1

Conclusions: / f=wd:

I. Some angles are triangles. / I. P9 CAaLREEaL %'I
II. Some lines are triangles. / I1I. $9 mﬁﬁﬂr%l

¢ Only conclusion I follows / $ad sy I fAwadr
e Only conclusion II follows / %ad foead II feadr &
e Both conclusion I and II follows / 3l fpd I 3R 11 fAPpad &

(16)



* None of the conclusion I or II follows / forsat I a7 IT & A SIS 18 FPpadr &
Correct Answer :-Only conclusion I follows / %dd forssy I freaar @
37)
Question Stimulus :-

Who was the last non-Indian to have been awarded the Bharat Ratna?/ HIRd W@' Wlﬁﬁ aﬁ ?:nﬁ GITﬁQﬁ
TR-YRA T B &2

¢ Lord Mountbatten/ ATS HIGCdcH
® Mother Teresa/ HgY Eg: 1)

® Khan Abdul Ghaffar Khan/ QT 3egdl THRPI QI

® Nelson Mandela/ el?\‘F[ 'FI%T’IT

Correct Answer :-Nelson Mandela/ Sed- Hadl

38)

Question Stimulus :-

Branches of five banks A,B,C,D and E are as follows: / A,B,C,D 3R E UTT 91 &t RATT IBL) % :
1. A, B and C are in Indore and Bhopal. / A, B 3R C $¢R €d Hurd ¥ &l

2. A, B and E are in Indore and Gwalior / A, B 3R E $aX Ud Wik A 2|

3. B, C and D are in Raipur and Bhopal. / B, C 3R D IR Td Hiurd H 1

4. A, E and D are in Gwalior and Jabalpur / A, E 3R D W@Wﬁ%l

5. C,E and D are in Raipur and Jabalpur / C, E 3R D YAYR U4 daayR & B

Branch of which bank is in Raipur and Indore but NOT in Bhopal? / &9 8% ﬁww 3R
$eR o § WR HiuTe § AET?

* D

Correct Answer :-E

39)

(17)



Question Stimulus :-

The Constitution (One Hundredth Amendment) Act provides for exchange of territories between India and

./ Qe (@far Ty rfuferaw 3R HIRd & S &= BT ATS BT B
° Nepal/ﬁmﬁ
® China/dH

® Bhutan / YcI1
® Bangladesh / CIRGIGR]

Correct Answer :-Bangladesh / SITTCRT

40)
Question Stimulus :-

Who is the first former Chief Justice of the Supreme Court to be appointed as the Governor of a State? / ﬂ';ﬂ'q

HIE & Ugd qd g A 31 §, 51 {51 I & Iaure $ Fu H frgea 53 e gl
* P Sathasivam / O FYTRIGH
® JSVerma /& TH qHf
* VN Khare / d TT &R
® R C Lahoti / 3R 3t @rgIet

Correct Answer :-P Sathasivam / Ut IUTRIGH

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ g 1 0 9R ual # ¥ R 3 T ua & Sl T9M o9 91 v A8) 82

Honeywell-Measurex
Sun-Keisei Building
4-1 Higashi 1-chome
Kita 1-jo, Chuo-ku
Sapporo, Hokkaido 060

Japan

(18)



(i) Honeywell-Measurex
Sun-Keisei Building

4-1 Higashi 1-chome
Kita 1-jo, Chuo-ku
Sapporo, Hokkaido 060

Japan

(ii) Honeywell-Measurex
Sun-Keisei Building

4-1 Higashi 1-chome
Kita 1-jo, Chuo-ku
Sapporo, Hokkaido 060

Japan

(iii) Honeywell-Measurex
Sun-Keisei Building

4-1 Higashi I-chome

Kita 1-jo, Chuo-ku
Sapporo, Hokkaido 060

Japan

(iv) Honeywell-Measurex
Sun-Keisei Building

4-1 Higashi 1-chome
Kita 1-jo, Chuo-ku
Sapporo, Hokkaido 060

Japan

(19)



® ii

® jv
Correct Answer :-iii
2)
Question Stimulus :-

If TELEVISION is coded as VELETISION, how is SUBSTITUTION coded? / fe
TELEVISION &I VELETISION 3 ®ifsd far SiTar §, 9 SUBSTITUTION &t $1 ®ifed far sirar

2?2
® SUBSTINOITUT
e SUBITSTUTION
e ITSBUSTUTION
* ITSBUSNOITUT
Correct Answer :-ITSBUSTUTION
3)
Question Stimulus :-

CANCELLED

In a certain code language, tama sama lama means very nice friend, seme sama sooma
means nice and sweet, and teks tama tuna means very hard surface. Which is the word for
lama in that code language? / foeft @ Fis Hmw ﬁ, polo folo zolo 1 Hddd % sun pulls earth,
zolo solo bolo &1 Hddd % earth is round 3R solo sula soka T Hdad % what is this | I FIs
YT & bolo & foIT FT Tt &2

® nice

® sweet

® hard

® friend

Correct Answer :-friend

4)

(20)



Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination: / 1A & TS dTaT 3ieRY TH TS BT SATHH AT Hel §] A JaIS g

(i) ZY23Q5BQ9
(ii) ZY23Q5BQ9
(iii) ZY2305BQ9

(iv) ZY23Q5BQ9

L

® iii

® jv
Correct Answer :-iii
5)

Question Stimulus :-

Reduce to simple fraction? / d fig § ag$pa sifo@?

(21)



b | e

Correct Answer :-1

6)
Question Stimulus :-

A shoe company sold 50 pairs of shoes costing Rs. 189.50 each for Rs. 10,000.What is the profit? / b
SIAT YT S 10,000 ¥U™ & 50 Sirs! ofd o9 foU, TP SIS! S 189.50 TUY B AT A I &1 1Y fpa=m
g3l1?

* Rs. 625/625 300
* Rs.525/525 %0
* Rs. 425/ 42530

* Rs.325/325%00

Correct Answer :-Rs. 525/ 525 3Ud

7)
Question Stimulus :-

436A X 232 = 10B2D80 where A, B, D are representing a numeral, what is the value of B? / 436A X 232 = 10B2D80 \_SIBT
A, B, D U HBIT® &, d B BT AT T BHIT?

Correct Answer :-1

8)
Question Stimulus :-

A publisher gives his distributor a discount of 30% on the printed price of the books. The distributor
sells these books to a bookseller at 20% discount on the printed price & the bookseller sells these

books at the marked price. Calculate the profit percentage made by the distributor? / T YHIR[P 3=
faave @ Tl & gita e W 30% @1 Ye a1 81 faaw® 34 foraral & s fagrar ot gisa g w®
200/0%ngéw%aﬁ?wﬁwlﬁaaﬁmwsﬂmﬁfﬁaw%| foa~® g1 9= T
Yy ufe=rd 1 82

(22)



® 152/7%

® 14 2/7%

® 132/7%

°® 122/7%
Correct Answer :-14 2/7%
9)

Question Stimulus :-

In a certain code language, wela sela tela means hot water bath, jela wela nela means cold
rain water, and nela nala pala means heavy rain fall. Which is the word for jela in that code
language? / &3 @Y ®ie YT &, wela sela tela &1 Hadd & hot water bath, jela wela nela &1
Haad € cold rain water 3R nela nala pala &1 Hddd § heavy rain fall | 38 &8 YW ¥ jela &

ferg < wreq &2
® cold
®  water
® hot
e fall
Correct Answer :-cold
10)
Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / IGE] Gﬂq?ﬁf P 91 & o
AR @& JS fpant At Y@t it sraxadar gif?

NS
AN

(23)



* 10
® 15
Correct Answer :-10
11)

Question Stimulus :-

In the following question, one term in the number series is wrong. Find out the wrong
term. / 99 Uy #, 9T 4@ A TP US TAd €| TAd UG [ BISA|

5,9,17,30,45
° 30

* 45

* 17

Correct Answer :-30

12)
Question Stimulus :-

CANCELLED

If Rs. 2800 is the 2/7 percent of cost of a house, then the value of the house is / gfe 2800
¥, TH WX B! AR $T 2/ 7 Ufad 8, d &= B! Siad arft

Correct Answer :-9

13)
Question Stimulus :-

A man can do a job in 14 days. His father can do the same work in 7 days and his son will take 21 days to complete
the same. How long will it take to complete the same work, if three of them are working together? / Th 3meHt

frelt &0 B 14 fea § B Twar 31 39 fUar St &1 B 7 G & T 9o § o TP T Bl I

(24)



PTH Bl WaH B4 § 21 A1 &1 999 e afe 3§ fora % 59 o189 &) &2d g, 9 ST BE 3
WaH B A I Tpa-1 I9g Thm?

9 9
e 3 lgaysy/3 1 R

| =
[ =

[
et
—t
[

e 3'ldays/ 3 feq

e 3 days / 3

b |
b |

f&

1
days /3 * f=

L | =

e 3

9 Q
Correct Answer :-3 ldays /3 1! R

14)
Question Stimulus :-

Complete the series choosing the missing number: / AW IWAT TADHR 9GAT B TR BIOT :
2,5,8 14,17

* 9

° 10

° 12

e 11
Correct Answer :-11
15)
Question Stimulus :-

The simplified form of x2 X (x5 *x%) is / x2 X (x5 =x%) ST IWA FU &

(25)



e 1

Correct Answer :-x3

16)
Question Stimulus :-

A train covers a distance of 10km in 12 minutes, If its speed is decreased by 10 km / h then the time taken to cover the

same distance will be/@é’quﬁﬂfﬁ 101%Iﬂaﬁ§ﬂauaﬂ?ﬁ%,aﬁwﬁﬂﬁr 10 fef/der & s HR §
o al Il & g T B H I/ JHY @

e 18min/18fiME
° 14min/14ﬁl_-'IE'
e 15min/15fMe
e 16 min/16 e

Correct Answer :-15 min/ 15 f9e

17)
Question Stimulus :-
CANCELLED

In throwing of a dice, what is the probability of getting 4? / a’rmﬁ@ qY b ME1 AT
HHTGT & TS 4 M2

® 5/6

° 2/3

* 1/6

* 1/3
Correct Answer :-1/6
18)

Question Stimulus :-

Find the value of 4P3 / 4P3 &1 #F R

(26)



e 1
Correct Answer :-4
19)

Question Stimulus :-

In the sequence shown below, which figure comes next? / <19 fRER T 4 #, FTHT MPHd
HI A gri?

11

i

Question Stimulus :-

What percent of a day is 5 hrs? / T ﬁ‘[ &1 5 He fopa-r ufawea %?

Correct Answer :-

20)

-

. 207 %

(27)



5

e 20:%

®* 20%
1
® 20%%
=
Correct Answer :-20 < %

21)
Question Stimulus :-

In a certain code, TRIPPLE is written as SQHOOKD, how is ‘PEOPLE’ written in that
code? / foft @RI ®Is ®, TRIPPLE &% SQHOOKD @t SiTdT 8, @1 39 1S # ‘PEOPLE’ &I &3

e smam?

e ODBOMD

e ODPOKD

e ODNOKD

* OFNOKD
Correct Answer :~-ODNOKD
22)

Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁ?jl?[ &R gAdR SEgdr P T aﬁﬁm tcab_a_c_bc_bc
_b_ab

® bcbbab
® hcbbbc
® acacab
® cbaaac

Correct Answer :-cbaaac

23)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁ'@'ﬂ &R gAMR ST Bl T aﬁﬁm :aa_aaa_aaaa_

aaaa_b

(28)



® baaa

® bbaa

® bbbb

® bbba
Correct Answer :-bbba
24)
Question Stimulus :-

Complete the series choosing the missing number: / AW JBAT TAHY @1 BT T BIOIT :

1,49, 25,36,

* 16

e 15

® 20

° 14
Correct Answer :-16
25)

Question Stimulus :-

The average of first five primes numbers is / LELC| U 3 ST P 3N9d %
°* 5
® 5.8
* 6.0
® 5.6
Correct Answer :-5.6
26)

Question Stimulus :-

CANCELLED

(29)



A crosses a bridge at a speed of 5 km/h in 12 minutes. What is the length of the bridge? / A, T® Yl # 5 fpdiae

o1 a0 | 12 fre § R a1 81 gd $t wars fea-t 82
* 100 m / 100 Hi
* 900m /90 7t
* 750m /750 Hi
* 1250m /1250 |

Correct Answer :-100 m / 100 #t

27)

Question Stimulus :-

b |
et | L2

The third proportional value of 5 = and 8 is / 5 =~ 38X 8 T dIeRT \’:I'chﬂﬁﬁ? = 8

* 9
e 10
* 6
* 7
Correct Answer :-9

28)

Question Stimulus :-

Two dice are thrown simultaneously. The probability of a total of 12 is /E,Pf g W\‘ITU%‘TQ’I RIT H'J-I'IHT-IT%
AT BT e 12 3TT?

* 1/18
* 1/12
* 1/9

* 1/36

Correct Answer :-1/36

29)

Question Stimulus :-
(30)



In a certain code language, forak klol loak means tie the knot, klol seda fema means the
sharp knife, and loak goak woak means blue neck tie. Which is the word for forak in that
code language? / {53 @RI ®Is U , forak klol loak 1 Hddd § tie the knot, klol seda fema
P1 Hded @ the sharp knife 3R loak goak woak &1 HAdd & blue neck tie | I ®Ig UTUT § forak
¥ fore 71 wsg 82

® fie

® Lnife

® lknot

® sharp
Correct Answer :-kinot
30)
Question Stimulus :-

5-7+41-17+20+8 = ?
® 60
® 40
® 50
e 70
Correct Answer :-50

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

The process of breakdown of rocks by the action of wind, water and sunlight is termed as, / 8dI, UL 3R T-Bfm

® BRATs A TSTHI & g &I ufhar &) Hgd o -
® Erosion / IR
® \Weathering / STU&IUT

® Cracking / dChAl

® Pollution / UgHUT

(31)



Correct Answer :-Weathering / STU&TUT

2)
Question Stimulus :-

The train of the future-Maglev Train runs on a section of track near Tokyo, Japan .It gets lifted a few centimeters above

the track while running. This is due to / uﬁwﬁwﬁ-ﬁﬁaﬁqwﬁaﬁ%wéﬁ%www
Tdd! Bl TeH P SR 8 P A $9 AW W IS Tl 81 TP BRI 8:

® Frictional Force / T 9

® Mechanical Force / NECAC

® Magnetic Force / W g

® Electrostatic Force / RRr a@?f dd
Correct Answer :-Magnetic Force / @I a0
3)

Question Stimulus :-

If a number is divided by 5, remainder is 1. If the same number is divided by 2, remainder is (. Then the last digit

of the number is uﬁwmaﬁsﬁﬁwﬁamm%ﬁu1mmélm
B@ﬂmaﬁzﬁﬁmﬁﬁmm,momam%laawwmamw 2l

Correct Answer :-6

4)
Question Stimulus :-

If A and B are acute angles, cos A = cos B implies that / fe A Td B WUT%,
cos A = cos B &7 didd & |

« AZB
« A=B

® A+B=90°

(32)



Correct Answer :-A =B

5)
Question Stimulus :-

The area of a rectangle with length ‘I’ and width ‘b’ is / Th T INGEd m P 3R ?ﬁ?ﬂ_g ‘b’ %,
SHST §TPd 5

e 2(1+b)

® 12*%1*Db

e 1*p

® ]+b
Correct Answer :-1*b
6)

Question Stimulus :-

A plastic comb rubbed against dry hair attracts bits of paper due to / Tdh WIReP Bt Fl @ CIGIR: T"I?,ﬁ ®
91 BT & hS| Pl AT Bl 8, THDI BT @ :

® Gravitational force / W G
® Electrostatic force / R 3?411?[ aq
® Muscular force / U=l 99

® Magnetic force / ﬂTﬁﬁ'q 94

Correct Answer :-Electrostatic force / RR ﬁg?m )

7)
Question Stimulus :-

Choose the statement that is wrong / 3 YT BT TG PHOIT SY TAd &

® Percolation rate of water is different in different types of soil /tﬂ:ﬂ ® 3dHauT &1 53 faftg R =t
Harei & fafm it &

® Percolation is highest in sandy soil / STHauT I 14 ﬁﬂ'&‘ Hal H e Il Eﬁ?ﬁ %

e Percolation damages plant roots / STHaUT Welf B STST B W BT §

(33)



® Percolation is least in clayey soil / STTHAUT HUHY Hal | YAdH a?ﬁ %
Correct Answer :-Percolation damages plant roots / 3TdHdUl qrel @Y EIGBF Pl W BT %
8)
Question Stimulus :-

Which of the following numbers is divisible by 9? / frafafaa & 9 o= Ot "= 9 9 faursy %?
® 19725462
® 36870521
® 51372185
® 639918272

Correct Answer :-19725462

9)
Question Stimulus :-

Refer to the graph below and answer the questions that follow: /F i feu RILe 10 ) Pl ¢
IR e IR -

Wheat Allotment to Maharashira in '000 tons

||:|;-Jlutment o0 ftake |

D T T T T T T T T T T T
Jan Feb War Apr Hay Jun  Jul Aug Sep Oct Nov Dec

2001

What is the difference between the maximum and the minjmum offtake of wheat by
Maharashtra during 2001 (in ‘000 tons)? /¥ 2001 ¥ GRTH Ig & RUFHAH R FAqH $d TG
H 3R 41 82 (9 H)

e 16.2

e 32.9

(34)



* 26.81

* 34.7
Correct Answer :-34.7
10)

Question Stimulus :-

Refer to the graph below and answer the questions that follow: /-'-ﬂ%ﬁ'[{ MY ITh P @
3R o vl BT IR @ -

Wheat Allotment to Maharashtra in '000 tons

||:|,L-J|atment 00 ftake |

Jan Feb War Zpr Kay Jun  Jul Aug Sep Oct Nov Dec
200

During January to December 2001 in which of the following months was the wheat .
offtake of Maharashtra better than previous month? / S<a3t 3 fegraR 2000 FSRA A A

o gl § weRTy 9 IF @ pa Wi Uod 7e ¥ ot 0
e February, April, June, August, December / BIaR}, 3@, S, 3T, foiaR
® March, June, August, December /ﬂ'ﬁf, Y[, Gl'l'lﬁ,ﬁﬂ'a'\’
®* February, April, August, September / BRas), 3riid, 3T, v
e March, May, July, November /T, 7S, JaT%, 463

Correct Answer :-February, April, June, August, December / BRa3}, 3Mld, 5, 3, fediar

11)
Question Stimulus :-

A, B and C enter into partnership. A invests some money at the beginning, B invests double the amount after 6 months
and C invests thrice the amount after 8 months. If the annual profit be Rs. 27000, C shareis: / A,B Td C G Udh

(35)



ArgieRl | yazr femm| A 7 gwema § $© i fFaw @, 6 9N uyTq B 7 39 i &1 gy Ao fean
T4 8 WEIA uYTq C A 39 i &1 forpar fawr fan| afe aiffe @y 27000 Fuw € @ € &1 3= @:

® Rs. 10800
® Rs.11250
® Rs. 9000
® Rs. 8625

Correct Answer :-Rs. 9000

12)
Question Stimulus :-

The branch of science that deals with the study of micro-organisms is called / ﬁ'ﬂ'ﬁ P AT S ﬁfﬂﬁﬁﬁ &
g | T §

® Genetics / W

® Microbiology / ﬁ&ﬂaﬁaﬁ

® Ppaleontology / EICIECIEEIE]
* Entomology / BIefdqTd

Correct Answer :-Microbiology / &S aa®!

13)
Question Stimulus :-

Two concentric circles are of radii 5 cm and 3 cm. Find the length of the chord of the larger circle which touches the

smallercircle./ﬁmwwwm: sﬁtﬁa3ﬁtﬂ%a’ra‘ﬁqaﬁwvsﬁmﬁmw
HIT W @Y g BT TR Bl 2

e 3cm / 39f
* 4cm/aTH
* s5cm /59T
e gcm/8 Ml
Correct Answer :-8 cm / 8 §Hl

14)
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Question Stimulus :-

Heating milk to 70 degree Celsius and suddenly chilling it is / &Y &1 70 f&ift Afcs
% T $A & 915 o9 SU AFS A gaitad $ a1 91 df 3§ R Hgd 52

® Preservation / TRI&U

* Pasteurization / URRIRIHRUI
® Packing / d$dad

® Pulverization / qd-d

Correct Answer :-Pasteurization / TRAISHRUI

15)
Question Stimulus :-

Which of the following pairs of angles are supplementary? / fgaa I F BN BT q¥ 'ﬂw %?
* 36° 54°
e 35°65°
e 39°111°
® 45°135°
Correct Answer :-45°, 135°

16)

Question Stimulus :-

The area of a circle is 301.84 cm?. Then its radius is ./ 9d DI Eaatb_d 301.84 JHI2 %I dd Wﬁﬁ
Bear g

* 46cm/4.6TH

* 9.8cm/9.8TH

® 92cm/9.2GH

* 9.4cm/9.4%H
Correct Answer :-9.8 cm /9.8 9Hl
17)
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Question Stimulus :-

Top soil in the A horizon is generally dark in colour because / A aﬁlﬁ H S0t Hal 9TH1Y =g I [T H e

gl 3 FiTH

® It is the topmost layer /g Tai= WRd %

® It contains all the waste materials / ?[\‘l'ﬁ Tt sruRiy TI'Q'TQf '&ﬁ% %'I

® Jtis rich in humus and minerals /gﬂﬁ eRUT Gﬁ'\" Eﬁﬁf 3fP fa_(ﬂ %

® ]t contains water / Ug oIl I@dl %
Correct Answer :-1It is rich in humus and minerals /E"H'Ef tRUT 3R @it 3rfie ?I?IT %
18)

Question Stimulus :-

Refer to the graph below and answer the questions that follow: /T-ﬂ%rﬁ'[{ T IqTh Pl ¢
IR fFEuie IR -

Wheat Allotment to Maharashira in '000 tons

||:|;-J|atment DDﬁtaIi&|

Lnom
)
]
]
]
|

o o o
—t—t+—
I

o
|
I

—= R L

=
1

I
[
I
I
I

Jan Feb War Apr Way Jun Jul Aug Sep Oct MNov Dec
2004

In terms of percentage during which month in 2001 was the whgat offtake of
Maharashtra compared to the allotment the highest? / Ufasd & e # a¥f 2001 & fog weq

& R HERTY & g & P WG, 3Mded $I ga-T 4 S=aH 4
e April /304
® June /9

®* August / 3

® October / 3dgaRr
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Correct Answer :-August / 3

19)
Question Stimulus :-

Refer to the graph below and answer the questions that follow: /-'-ﬁ%ﬁ'q MY T &I 3@
MR g usi F1IR S -

Wheat Allotment to Maharashira in '000 tons

||:|;-J|ntment OO ftake |

D T T T T T T T T T T T
Jan  Feb Mar Apr Bay Jun  Jul Aug Sep QOct Nov Dec

200

What was the total wheat offtake by Maharawshtra during the entire year of 2001 (in
'000 tons)? /2001 & [ 94 & GRT AGRTY §RT 15 B! oo WIg 1 A2 (€9 )

* 740.2
e 571.8
* 603.8
* 648.5
Correct Answer :-648.5

20)
Question Stimulus :-

The rate at which a sum becomes four times of itself in 15 years at S.l., will be: / dg8 @Y, forad TR gremmur sars
W 15 U1 § WA IR T g A1 g, 8

® 15%
® 20%
® 25%
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® 17.5%

Correct Answer :-20%
21)

Question Stimulus :-

Ball bearings used in automobile wheels & conveyor belts converts / Hlewisal & ufgal va
Harg® Ugl W TANT ®t M arelt st dafer uRafda st @:

® Sliding friction into rolling friction / ﬂ'fff YT HY éﬁq o
® Rolling friction into sliding friction / S giur &I ﬁﬂ'ﬁfUT ]
® Static friction into rolling friction / Rifqs avur & Iea g &
® Sliding friction to static friction / ﬂ'lﬁ'il'ﬁful' G| ﬁﬁﬁ? gy §
Correct Answer :-sliding friction into rolling friction / Wﬁﬂﬁ'ﬂ &I dTaT o

22)

Question Stimulus :-

log .axlog_ b= / Laxlog ¢ :
Evaluate (08 5@ xlog, & log,,c / log,axlog, oxlog ,c T {19 SN

® Abc

® g+b+c
Correct Answer :-1
23)

Question Stimulus :-

The white light is split inot seven colours by a / %ﬂm Wﬁﬁﬁmﬁlﬁ@?ﬁ% ?N% GRI :
® Mirror / a'[fUT
® Lens / Sh3|
* Prism / fUsH

(40)



® Glass / CaE|
Correct Answer :-Prism / s
24)

Question Stimulus :-

Refer to the graph below and answer the questions that follow: /<13 feu ¢ UTw & &
AR U PTG -

Wheat Allotment to Maharashira in '000 tons

||:|;-J|utment Dﬂﬂake|

0 T T T T T T T T T T T
Jan Feb Mar Apr Way Jun  Jul Aug Sep Oct Mow Dec

2004

Starting from January which quarter had the lowest percentage of offtake as compared

to the allotment? / SFaR] & UR™ H1 W 5y faumél A 3ides &t gorn # o @iig &I ufa=a
gAY QT2

e January-March /\‘rlﬂilﬁﬂ'ﬁf

e April-June / 3@ S
 July-September / Jars Riaw@R

®* October-December /Gﬁia'\’ﬁﬂ'h‘ﬂ

Correct Answer :-January-March / S-a3 #T=

25)
Question Stimulus :-

Underground water reservoirs are called / ‘{&F’H N N) ﬁ &I | ﬁ% %’
® rocks /U

® aquifers / STCTHRY

(41)



® roots /SIS

° AandB /Tl A SR B
Correct Answer :-aquifers / STcTHY
26)

Question Stimulus :-

MCB are switches which / MCB &g g1 & =it o :
e Completes the circuit / TRUY B} TRT Hd §
® Supplies current / fIgUT URT F MYfd Fa &
® Controls the switch / g9 = ffa «a %

® Automatically turn off when current in a circuit exceeds safe limit / Tgafed ¥ J [ '5?[ iG] % oid
ufvuy § fagaq ot gRam e @ sifte gidl §

Correct Answer :-Automatically turn off when current in a circuit exceeds safe limit / Igarferd 9 9

§¢ gl oTa 8 oI uuy ¥ fagaq urT gRem Far @ erftre gidt 8

27)
Question Stimulus :-

The movement of cool air from the land towards the sea during night is called / Id & RHE

i & TH% B 3R S 541 DI IMATIG! DA o :
® Air currents / 1 WaTg
® Convection current / Tdg- P YRT
* Land breeze / Yd THIR
* Seabreeze / UK GHIX

Correct Answer :-Land breeze / & JHIX

28)
Question Stimulus :-

Biogas is produced from waste water with the help of / 9d 39 &1 (AU YFRW &a gRT fHast
el I it §

* Anaerobic bacteria / ATIAIT Fﬂﬂ'ﬂ'{[

(42)



® Aerobic bacteria / ATIATT \_rﬁaTUJ
® Aerobic and anaerobic bacteria / arag ET:T 3argdy \_rﬁﬂ'l'l'{[
® Fungus / Pddb

Correct Answer :-Anaerobic bacteria / SATIdIA Siary]

29)

Question Stimulus :-

Name the smaller parts of an organ of a plant / animal / W/ U & 3 & BIe YR ST &
® Organism /\_rﬁﬂ
® Tissues / AP
® Organelles / 3T®H
° CeIIs/W
Correct Answer :-Tissues / $ddh
30)

Question Stimulus :-

The transfer of pollen grains from the anther to the stigma of the flower is called / Y& & WA P e d
WRRTHUT BT RIFTR HEATdT &

® Pollination / URTITUT

* Fertilization / 0T

® Zygote formation / JTH- ﬁITI'fUT

® Development of embryo / YUT Bl fawre

Correct Answer :-Fertilization / TG
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